



File Number

R-2003-0311

Title

Resolution

## City of West Allis **Matter Summary**

Status

In Committee

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution to approve bid of Underground Pipeline, Inc., for installation of sanitary sewer, sanitary sewer relay, storm sewer relay and utility adjustments in S. 73 St. from W. Lapham St. to W. National Ave., W. Lincoln Ave. at 11301 W. Lincoln Ave., in the amount of \$49,472.75. Controlling Body: Public Works Committee Introduced: 10/21/2003 COMMITTEE RECOMMENDATION OPPORT MOVER SECONDER AYE NO PRESENT **EXCUSED ACTION** Barczak DATE: Czaplewski Kopplin 2003 Lajsic Narlock Reinke Sengstock Trudell Vitale Weigel TOTAL SIGNATURE OF COMMITTEE MEMBER (RECORDER) Chair Vice-Chair Member COMMON COUNCIL ACTION MOVER SECONDER AYE NO PRESENT **EXCUSED** ACTION Barczak DATE: Czaplewski Kopplin 10-21-03 Lajsic Narlock Reinke Sengstock Trudell Vitale Weigel TOTAL



## COMMITTEES OF THE WEST ALLIS COMMON COUNCIL 2003

#### ADMINISTRATION AND FINANCE

Chair: Alderperson Czaplewski V.C.: Alderperson Kopplin Alderpersons: Barczak

Lajsic Reinke

#### **ADVISORY**

Chair: Alderperson Reinke V.C.: Alderperson Vitale Alderpersons: Kopplin Lajsic

Narlock

#### LICENSE AND HEALTH

Chair: Alderperson Barczak V.C.: Alderperson Sengstock Alderpersons: Kopplin

Trudell Vitale

#### SAFETY AND DEVELOPMENT

Alderperson Lajsic Chair: V.C.: Alderperson Weigel Alderpersons: Czaplewski Narlock Reinke

#### PUBLIC WORKS

Chair: Alderperson Narlock V.C.: Alderperson Trudell Alderpersons: Sengstock Weigel Vitale



## City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

#### Resolution

File Number: R-2003-0311

Final Action:

Resolution to approve bid of Underground Pipeline, Inc., for installation of sanitary sewer, sanitary sewer relay, storm sewer relay and utility adjustments in S. 73 St. from W. Lapham St. to W. National Ave., W. Lincoln Ave. at 11301 W. Lincoln Ave., in the amount of \$49,472.75.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Underground Pipeline, Inc., for 2003 Project No. 34 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Underground Pipeline, Inc. for 2003 Project No.34:

Sanitary Sewer Relay, Storm Sewer Relay & Adjustments S. 73 St. from W. Lapham St. to W. National Ave. W. Lincoln Ave. at 11301 W. Lincoln Ave. (Plan File No(s). S-1280 & X-751)

for the sum of Forty-nine Thousand Four Hundred Seventy-two dollars and Seventy-five Cents (\$49,472.75)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds and Storm Water Management Funds.

Eng03-034

ADOPTED

Paul M. Ziehler, CAO, Clerk/Treasurer

APPROVED

Jeannette Bell, Mayor

**CITY OF WEST ALLIS** 2003 Project No. 34 Bid Opening - 10/16/03

# SANITARY SEWER, SANITARY SEWER RELAY, STORM SEWER RELAY AND ADJUSTMENTS S. 73 St from W. Lapham St. to W. National Ave. W. Lincoln Ave. at 11301 W. Lincoln Ave.

W. Lincoln Ave. at 11301 W. Lincoln Ave.		Bid Bond 5%  Underground Pipeline, Inc. 2180 S. Springdale Rd. New Berlin, WI 53146		Bid Bond 5%  United Sewer & Water, Inc. N60 W14643 Kaul Ave. Menomonee Falls, WI 53051		Bid Bond 5%  Rawson Contractors Inc. P. O. Box 543  Hales Corners, WI		Bid Bond 5%  Globe Contractors, Inc. N50 W23076 Betker Road P. O. Box 450  Pewaukee, WI 53072-0450		Bid Bond 5%  James Cape & Sons Company 6422 N. Hwy. 31 P. O. Box 044580  Racine, Wi 53404-7012		Bid Bond 5%  Mainline Sewer & Water, Inc. 11430 W. Bluemound Rd. Wauwatosa, WI 53226		Bid Bond 5%  Musson Bros. Inc. 909 Boyce Drive Rhinelander, WI 54501	
ITEM	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 8" dia. Sanitary Relay	150 lin. ft.	93.50	14,025.00	87.00	13,050.00	125.00	18,750.00	118.00	17,700.00	120.00	18,000.00	145.00	21,750.00	125.00	18,750.00
2 12" dia. Storm Relay	121 lin. ft.	71.00	8,591.00	100.00	12,100.00	110.00	13,310.00	108.00	13,068.00	114.00	13,794.00	144.00	17,424.00	115.00	13,915.00
3 3'6" dia. Sanitary Manholes (3)	22 vert. ft.	302.00	6,644.00	555.00	12,210.00	325.00	7,150.00	425.00	9,350.00	540.00	11,880.00	479.00	10,538.00	350.00	7,700.00
4 3'6" dia. Storm Manholes (2)	5 vert. ft.	317.00	1,585.00	220.00	1,100.00	250.00	1,250.00	200.00	1,000.00	350.00	1,750.00	347.00	1,735.00	400.00	2,000.00
5 Sanitary Service Reconnects	2 units	257.00	514.00	200.00	400.00	50.00	100.00	500.00	1,000.00	150.00	300.00	193.00	386.00	150.00	300.00
6 Storm Service Reconnects	1 unit	415.00	415.00	500.00	500.00	1,000.00	1,000.00	500.00	500.00	1,000.00	1,000.00	1,325.00	1,325.00	_	2,000.00
7 Type "A" Pavement Replacement	40 sq. yds.	59.00	2,360.00	50.00	2,000.00	50.00	2,000.00	80.00	3,200.00	50.00	2,000.00	62.00	2,480.00	80.00	3,200.00
8 Type "B" Pavement Replacement	375 sq. yds.	34.00	12,750.00	32.00	12,000.00	35.00	13,125.00	40.00	15,000.00	40.00	15,000.00	37.00	13,875.00	90.00	33,750.00
9 Pavement Ties	200 units	7.00	1,400.00	6.00	1,200.00	7.00	1,400.00	12.00	2,400.00	7.00	1,400.00	7.00	1,400.00	8.00	1,600.00
10 5" Walk Replacement	75 sq. ft.	5.25	393.75	5.00	375.00	10.00	750.00	10.00	750.00	10.00	750.00	6.00	450.00	10.00	750.00
11 Type "A" Lawn Replacemebt	15 sq. yds.	15.00	225.00	10.00	150.00	10.00	150.00	20.00	300.00	20.00	300.00	11.00	165.00	25.00	375.00
12 Inlet Protection Barriers	8 units	40.00	320.00	20.00	160.00	30.00	240.00	25.00	200.00	25.00	200.00	21.00	168.00	150.00	1,200.00
13 Traffic Control	1 lump sum	250.00	250.00	500.00	500.00	500.00	500.00	1,000.00	1,000.00	1,000.00	1,000.00	1,300.00	1,300.00	6,000.00	6,000.00
Low Bidder is bolded			49,472.75		55,745.00		59,725.00		65,468.00	**************************************	<b>67,374.00</b>		72,996.00		91,540.00

